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oß^}�ß²b®÷W{Ï»Ż�Û÷YÜÏm�~ßÖ{·y»î_{ÿy»Þ� 
 

öõåÿîÜÿ~ 10 o 12 å 
 îÜÿ~ 10 o 10 å~w{î_þ~óû~rs�î_{ÿy»Þ��k~xzºwy2 
 

No î_Õû Þ� öõå 

ÿ 

îÜ 3 ~ïß1ow~¿ußO¿{¸»<¶óù·÷ó¿=xtv
_Ü|Ŕxvt~y2s~�_özÌo²�~x1ýým�´ß²
WÛ÷Ïm�~űÿ_wýÏ|Õþw1�ÛÎÛå{ßÎwzt|
\1y~¸vzú¹¿ÿÕþmûÑ{ÿ|Ŕx»~{1~�}~ÿ
ö�y~{þ{²}xv�put2 

ßW1îÜÿ~ÿoÿå{õW|�Ww}»óhxwv�put2 
zz1ßÖ��ÿ(ÿ)ßßgþ~¸~xzº1ƤÛß~Wû´wß
{x~žn{¸º1óhf~�W¹±¸õüû|Yö{z»|\
�1�´{{o^xWûw1��Yö²Ìtÿßy»sxxwvz
º~y2 
~�1ÕþmûÑ{{ttv�1YÜÏm�xî¿yWÛþ{zt
vÛ±»ÎÛwy2 

R5.10.12 

ÿ 

îÜ 6 ~ 6 o�{ß²b~ŌÙ~îÞÑÕ{|ÎÛu¼vt~y
|1uo~ýý´f�{ttv~û}²}xv�put2 

Õ{ƪ{îÞÿíÏm²Ìvsx��±¹¼vtzt|1uo~¸
vz1Y}~ÏƪþÙ{_�»²~{ttv�1Ìsv²¸t2�
pw1Y}²çßy»¸vzîY}��±¹¼zt2 
}�ƪ}²ûß²ýŻŌÙîÞÑîÞ�ýÛsîõß�ÖÿFAQÿ 
ÿ�ÿzÿÿîÜÿ~ÿo 22 åÞqÿ²ßzú�~N1tóhwv
�put2 
zz1^þëÜûÑ{ttv�1ÿîÞÑ{þx»ÎÛwy2 

R5.10.12 

ÿ 
¿wî}{~kÿ}|ß�xz»|\1ßŊĜ÷|}ou¼vt»
|\{�î}ƪ{uo²Ìvsx�ÿýww·v{ 

uo�ÿýx�x»2zz1¿wî}»ÿ²gþxw�ú¿Y}ß
{ÌvzyÝo|ß�x�x¹¼~y2 
zz1¿wî}»ÿ{~»ÿƪ~wk�Oÿwy2 

R5.10.12 
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No î_Õû Þ� öõå 

ÿ 

<¿oö_=|ß�z|\1îÞÑ~Õ{ƪ{kÿ}²�Ûy»s
x|ß�x�xvt~y2s~kÿ}{ß�z<î}��Ïm~Ï
Ñÿß²¾y»²~={ttv1îÞÑÕ{ƪw�ýÏƮÝ~ÏÑ
ÿß²¾ny»þÞ|ß�{x�x~y2Nýw1Ñ��·¸º<�
Ï¾n²ûy|\1þûÑÝ~ëÿÝxÜûÑÝ²{wvt�p
}1Ìŋß{¹~o�þ|~Ìu¼¼p1ÑÝ~�öw|r»sx
ƪówkÿ}²Ĉ±»sx²w}»ÿýŉ�rº~y=x~o�|
rº~w�2ûÿ}ÿ~�÷ß{1Ìŋß{¹o�þ²~Ìwvt
�p�sx�ÿýww·v{ 

Oÿ2 
ßÖ��1WÛþ{wï}w}»{yv{1Ñ��·{xtǤÏ�
put2 

R5.10.12 

ÿ 

�~»ÿ1¿wî}1þûú�1í¶zy1[Ü{¿�»kÿ}²
û÷¸�Ĉ±»�±ß�|r»x�x~y2oß^w�1s¼¹~
kÿ}{ztvy~¸vzµýüø²óßwvt�pq»~ww
·v{ 

ßW1Ïm�ë¹|kÿ{²Ìvß�|rº1îÜÿ~ÿoÿå{
�Ww}»¸v1SV{��²�v�vxwóh²wv�put2 
zz1ÏmÔŊ{Uqv~µýüø�ŭ}ö{ÌsvÓº~y2 
 

R5.10.12 

ÿ 

��ïxwv~ŸÿÓï~ÛƮúß{·wv1̂ |boy»oŌÙ
~_w²1ù�q|ŌÙw1}~}¿²_ëýÏ~Nøxwv×º
svsx�ÿýww·v{2²w��1̂ tw~ÓïŌÙ�g~þ
o{ÎÛu¼vt~yww·v{2 

tî_~[b{ttv1y~��ï²gwvt»{¿{º~{³
|1oßÖ{·wv�1}w{ttv²óh~ÿöwr»sx{¹1
Î±1z{wy»Ï��rº~{³2 

R5.10.12 

ÿ 

ßÖ�� P.3<3 ßß~Ï|ûgþ=~<½ ßßÏm�~��}~
ïè�Ûs�õ|k~Ï�²î�ysx={ttv1wýëÿýý
ÌîÿoÜ 22 ~ŋî� 16 ÷ÿ� 167 g~ÿ~�Û{ú_wzt
�wr»sx2x��|rº~y|1sq¹�1� 167 g~ 4 � 1
�²gw~yww·v{2~�1� 2 �²�°|\{ztv1¼^
¸ºuo~g]\k²×qvtzt|\{ztv�ÓòÏ|²o
yxtv�xýwßwtww·v{2 

z�¿�~xzºwy2 

R5.10.12 
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No î_Õû Þ� öõå 

ÿ 

ßÖ�� P.7<ß²b{ŌÙ{Ï»ÜûÑ{={ttv 
ÿîùÿõ�ßß²W{ztv1�ÿß²b~ǉŻxy»|\1}
�ƪ}²ûß²ýŻŌÙîÞÑ(îÜ 5 ~þ)~�xý�ïOwßw
tww·v{2 
do_ýÏ¿  ÿ149,700 ƅ× 
    e{ëÞ�ýÏ ÿ  8,950 ƅ× 
    fŻ�ýòÿ  ÿ  7,932 ƅ× 
    g�ŻþÙ¿òÿÿ  1,600 ƅ×  
    d_w_ýòÿ ÿ 13,100 ƅ× 
ÿdÿeÿfÿgÿdÿ×2/1=362,565 ƅ×ÿÜûÿþÝÿ 
     362,565 ƅ××3/4=271,923 ƅ×ÿÜûNÖÝÿ 
ÿîùÿoß^®÷Wß²býŻŌÙ¿ÜûÑ~�xý�1N�Ü
ûÿþÝ 362,565 ƅ×²�x�Ý~ÿ/ÿwrº1ÜûNÖÝ�
362,565 ƅ××1/4=90,641 ƅ×xtv�xýwßwtww·v{2 

z�¿�~xzºwy2 
zz1îÞÑ~û}�1}�ƪ}²ûß²ýŻŌÙîÞÑîÞ�ý
ÿsŊÏ� 466 ÷îÜÿ~ÿo 22 åÿ²ú��put2 

R5.10.12 

 


